[bookmark: _GoBack][image: ]
image1.png
3V3_SFP g 0x74

2 , SFP1_PRESENTn
R211 1 |voo Po0rE = SFP1_PRESENTn
7K c98 PO1 [3—SFP2_PRESENTT SFP17LOS

ot T 12 P02 [ - SFP2_PRESENTn
GND P03 g — SFP2_LOS
~7 P04 [~g—SFPStES SFP3_PRESENTn
12C0_SQ@a{ip 22 PO5 (15 - SFP3_LOS
12€0_SCL = 55 SCL P06 (7 = SFP4_PRESENTn
T2C0_SDA| p——————"" SDA  PO7 |3 SFPS_PRESENT SFP4_LOS
UP_INT# 1|— Po8i7 - SFP5_PRESENTn
UR_INT# <« INT P09 5 5 SFP5_LOS
S —— Sreepncsam,
sre y—BSTE 3 oy pyp 1T s SFP7_PRESENTn
9539_ADD0 54 P13 (g — SFP7_LOS
$539ADBt—5 | AD P14 55 SFPE—+OS SFP8_PRESENTn
Al P15 SFP8_LOS
TCA9539PWR
3V3 SFP
R338 9539 ADDOgp1p 10K
R339 Z7KDNPY =02 'R213 10K
4.7K(DNP)

DGND




